Eco. 303]
9t (Economics)
AT 9¥q 99 009 (Model Question 2077)

a1 (Grade): XI
gua(Time) : 3 Hrs. gurigd (Full Marks): 75

AT T AT SEEAT Affad 3ux faqde | IR fagusr aswd gusEans
w[r3d | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full
marks.)
g & (Group A)
Ffa diw o 9ee® (Very Short Answer Questions)
S yeAeEd! Ju¥ e (Attempt All Questions.) 11x1=11)
1. giid® 9% 9°& & 8l 7
What 1s an economic good?
2. gz un Gad  Qgq= 150 +10P ¥ uid waT Qs = 300 — 20P «v g=ifdd
Oed Ul @3RI |
If demand function is: Q¢= 150 +10P and supply function 1s:Q, =
300 — 20P, find the equilibrium price.

3. dvg g9d HHH & Bl 7
What 1s the closed economy?
4. YA g HYL AUAT Ao ?
How 1s the disposable income calculated?
5. e faerg aqEl & 27
What 1s the economic development?
6. T AITAFT F q% (AEAT TG |



Write any two features of Nepalese Economy.

7.  E AFAT @S GErE & 58 JUAN Jod@ TR |

Mention any two uses of mineral resources in the agriculture sector.
8. TETICH F g2 JUAN @R |

Write any two applications of internet.
9.  wdymenT AR Y TF TEART dElEE |

Write any two uses of Mathematics in Economics.
10. 3x? % fgwfreaaa s uar @r3e |

Find the differential coefficient of 3x2.
11. & fame®EA(2, 3) T B(5, 7) are S |41 (@rsl sherd g0 aamgaerd |

Find the slope of the straight line passing through the points A(2, 3)

and B(5, 7).

9g ¥ (Group B)
i gucH® 9ee® (Short Answer Questions)

I yeaeEal 9 [ | (Attempt All Questions) (8 x5=40)
12, wrefa®l A4l GRS SATRAT THard |

Explain the Marshallian definition of economics.

#aar (Or),

U OE] & 8l 7 JOE [F9udies ATl THel |

What 1s labour? Explain its features. (1+4=5)
13. ARTET AW AT THe M |

Explain the law of demand.
14. TE2U®l dIfdEIE] ATLRAT TAET ITeEEl 3T [Gad |

Answer the following questions based on the given table.
(2.5+2.5=5)

" (%/%501) [Price(Rs./Kg.)] | 9 10 15

gid aiamr (% 5i) 1 ) 3




15

[Quantity supplied (Kg.)]

TR HA % Y @12 dig 90 & QY §ar Uidel e axqr @irgery |
Find the elasticity of supply when the price of a commodity

increases from Rs.5 to Rs. 15.

TEAET TA 3. 94 91¢ 9 B 90 gaT qfdel @l oal airgderd |
Find the elasticity of supply when price of a commodity decreases
from Rs. 15 to Rs. 10.

fagual aifd®iel AT Tasl JedeeEsdl Fa¥ e |

Answer the following questions based on the given table:
(2+1.5+1.5=5)

SUHRT TIRUE! ILHT URTT | &ed FUATTAT drorea guahTa
(Unit of commodity | (Total utility) (Marginal utility)
consumed)

1 5

2 9

3 12

4 14

5 15

6 15

7 14

8 12

fazudt arfasr o1 TR |

Complete the given table.

T TRUET dlidEae & ¥ A FUAMTAr ahe@r = T |
Draw the total and marginal utility curves from the completed table.
Fd ¥ FMHAT IUATTAT TH@Naa®] v d@r3qed |

Show the relationship between total and marginal utility curves.



16.

17.

18.

19

TATHE HAEE Joddd Teld |

Mention the functions of money.

AT AN [ARTHE] GHATar Ul I-ET FRIEEH d@rsmgr e |
Evaluate the causes of Nepalese economy lagging behind in the

process of economic development.

SAdrd UREdTd dUTAE AGTANT URE UATde® ATl e |

Explain the effects of climate change in the economy of Nepal.

frms A (-5, 10) a7@ UREH o7 T4 F&THT SXEY @Ug adTge [@HT W@
FUTEIIT 9T AM3A |
Find the equation of straight line which passes through the point A

(-5, 10) and makes equal intercepts on both axes.

geadr (Or),

afg & U3er a&adl fagua gomad wdd : Q = 4L + 312 + 713 @ s dad

Jyde® YUTEE e |
If the production function is given by : Q =4L + 3L+ 7L3, then

solve the following questions):

AT JeATET HAd Ol AR |
Find marginal production function.
ST Y, UETS &ardl GrTed Joarad Il afm3erd |

Find the margimal product when unit of labour 1s 5.

q9g T (Group C)
T geens geAe® (Long Answer Questions)

Y yeeEd! IuX e | (Attempt All Questions) (3 X 8 = 24)

20.

fagual qifd®ier AT TaRl YeagEsd! Ja¥ aaed |

Answer the following questions based on the given table:



ST UHTET | gWH] RIS | & FAaH AT JAEA | GrHwT o
(Land in (Unit of &SI AT & SiTAT &, Sft |
Ropanies) Labour) (Total (Average (Marginal

product in product n product in
Kg.) Kg.) Kg.)
15 0 - - -
15 1 10
15 2 30
15 3 60
15 4 80
15 5 90
15 6 90
15 7 80
15 8 60

21.

22

AT T ATATT JTUTE 0T T ATAET G TR |
Complete the table by computing the average product and marginal

product.

JATEAET ATder TRgEdls L@ =0T @rg ATe THed |

Show the three stages of production in a diagram and explain.

AUt ST [AERTEFE S9EE AT Aked AT AT T+ [ Fi512 g | 2T
THET |

Why measurement of national income is more difficult in
developing countries like Nepal? Explain.

AUTATT HTRT ATIIAEIFT T AFATATEIAT TUH FATIEEE] d@rawgr T |
Evaluate the efforts made for the modemaization and
commercialization of agriculture in Nepal.

741 (Or),




Examine the role of industrial sector in the economic development

of Nepal.

The End
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